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Warm Up: Simplify.
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Simplest Form
A radical is in simplest form when:

1. The radicand has no perfect square factors other
than 1.

2. The radicand does not contain a M:@u&ions.
3. No radical appears in the denominator of a fraction.

To eliminate, we rationalize the denominator.
(next year)

Compare these numbers:

A. 12 versus 13
7 7
Improper fraction Mixed Fraction
B. J24 versus 2.6
Entire Radical Mixed Radical
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1. Simplify the following. [Savares\
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mixed radical.
2. Multiply the following:
2) V3 x5 b) @B By
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3. Divide the following:
V10 618
AN ) 1202
- [ k)18
’\]g ’(u) X
-5 -1\

Unit 2 Page 3



Adding and Subtracting
e First change all radicals to simplest form

e Then only add/subtract terms with “Like Radicals”

4. Add or subtract the following:
Like 14x + 8 x — Zwhere x is V7

\
2) 1447 +8J7 -7 b) 25 +36
=317 d‘;?fn;,‘(fé.

\B fE are no+
7 W \KE” radicafé

c) V3 ++27 - 275 d) _8';@

=B+ 93 -qasxy o TR flox2
=3 +33-2(53) _ _g+4&

_ - Ta

= (3 +3{3—|

3 +303- 083 _ H(-a+@)*
= 613 T T a
= {a~2
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V323 =3 \/TixJ—z-,\?—

5. Multi following:
a) 3~77(2~/_E7 1 b) ( 4@ V2 +433)

z ﬁgz ;13;' =230t uJ" 3516 -20(3)
) = 56 - 17 - 6o
= -4 - e
°) ($3975) d) (3.5 €) (338
= 3975 = (3y(E) = (3478 )(3+73)
= 4(5) =9 +46/5+5
= L‘g = |4 ‘fb‘?

U2D1 HW: Pgs. 106-107 #1-4  Pgs. 139-141 #1ae, 2ae, 3-odds, 4aceg, 5bfjm, 12, 14
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